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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 27 gSaA  
 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 27 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr ijh{kk ds mijkUr ijh{kk ds mijkUr ijh{kk ds mijkUr bl bl bl bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
  All questions are compulsory. 

 (ii) oLrqfu"B ç'uksa ds lghlghlghlgh fodYi fy[ksaA 
  Write the correct option in objective type questions. 

 (iii) nh?kZ mÙkj okys ç'uksa esa vkarfjd fodYi dk çko/kku gSA 
  Internal choice has been provided in long answer type questions. 

 (iv) çR;sd ç'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
  Marks of each question are indicated against it. 

[k.M[k.M[k.M[k.M    – vvvv    
SECTION – A 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½    
(PHYSICS) 

  1. lw;ksZn; ds le; lw;Z dk jax yky fdl dkj.k ls fn[kkbZ nsrk gS \ 1 

 (A) çdh.kZu (B) fo{ksi.k 
 (C) viorZu (D) ijkorZu 
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 Colour of the sun at sunrise is red due to : 

 (A) Scattering  

 (B) Dispersion 

 (C) Refraction  

 (D) Reflection 

  2. fuEu esa ls dkSu-lh xzhugkml xSl gS \ 1 

 (A) dkcZu MkbvkWDlkbM  

 (B) ehFksu 

 (C) vkWDlhtu  

 (D) buesa ls dksbZ ugha 

 Which of the following gas is greenhouse gas ? 

 (A) Carbon dioxide  

 (B) Methane 

 (C) Oxygen  

 (D) None of these 
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  3. fo|qr çfrjks/k dk SI ek=d gS % 1 

 (A) oksYV  

 (B) ,sfEi;j  

 (C) vkse  

 (D) dwykWe 

 SI unit of electric resistance is : 

 (A) Volt  

 (B) Ampere  

 (C) Ohm  

 (D) Coulomb 

  4. ik¡p R's esa nwljs 'R' dk vFkZ gS % 1 

 (A) de mi;ksx  

 (B) iqu% pØ.k 

 (C) iqu% mi;ksx  

 (D) mijksDr lHkh 
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 Meaning of second R in five R's is : 

 (A) Reduce  

 (B) Recycle 

 (C) Reuse 

 (D) All of the above 

  5. thok'eh b±/ku dh D;k gkfu;k¡ gSa \ la{ksi esa o.kZu dhft,A 2 

 What are the disadvantages of fossil fuel ? Explain in brief. 

  6. dksbZ fo|qr cYc 220 V ds tfu= ls la;ksftr gSA ;fn cYc ls 0.50 A fo|qr /kkjk çokfgr gksrh gS] rks 
cYc dh 'kfDr D;k gS \ 2 

 An electric bulb is connected to a 220 V generator. The current is 0.50 A. What 

is the power of the bulb ? 

  7. fdlh varfj{k ;k=h dks vkdk'k uhys dh vis{kk dkyk D;ksa çrhr gksrk gS \ 2 

 Why does the sky appear dark instead of blue to an astronaut ? 

  8. fo|qr eksVj D;k gS \ fo|qr eksVj dk ukekafdr fp= cukb, rFkk bldk fl)kar fyf[k,A 4 

 What is an electric motor ? Draw its labelled diagram and write its principle. 
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  9. (a) çdk'k ds ijkorZu ds fu;e fyf[k,A 2 

  Write the laws of reflection of light. 

 (b) dksbZ oLrq vory niZ.k ds oØrk dsaæ (C) rFkk Qksdl (F) ds chp esa fLFkr gSA ml oLrq ds 
çfrfcEc dh fLFkfr] lkbt rFkk çÑfr dks js[kkfp= }kjk n'kkZb,A 2 

  An object is placed between the centre of curvature (C) and focus (F) of a 

concave mirror. Draw the ray diagram to depict the position, size and 

nature of image formed. 

 (c) ml ysal dh Qksdl nwjh Kkr dhft, ftldh {kerk −2.0 D gSA ;g fdl çdkj dk ysal gS \ 2 

  Find the focal length of a lens of power −2.0 D. What type of lens is this ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) çdk'k ds viorZu ds fu;e fyf[k,A 2 

  Write the laws of refraction of light. 

 (b) dksbZ oLrq mÙky ysal ds 12F  ds ijs fLFkr gSA ml oLrq ds çfrfcEc dh fLFkfr] vkdkj rFkk çÑfr 
dk js[kkfp= cukb,A 2 

  Draw a ray diagram to show the image formed by a convex lens when an 

object is placed beyond 12F .  
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 (c) ge okguksa esa mÙky niZ.k dks i'p-n`'; niZ.k ds :i esa ojh;rk D;ksa nsrs gSa \ 2 

  Why do we prefer a convex mirror as a rear view mirror in vehicles ? 

[k.M [k.M [k.M [k.M –    cccc    

     SECTION – B  

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

(CHEMISTRY) 

10. pkoy] vkyw rFkk czsM esa eq[;r% D;k ik;k tkrk gS \ 1 

 (A) çksVhu (B) dkcksZgkbMªsV 

 (C) olk (D) foVkfeu 

 In rice, potatoes and bread what is mainly found ? 

 (A) Proteins (B) Carbohydrates 

 (C) Fats (D) Vitamins 

11. ty dh LFkk;h dBksjrk gVkus ds fy, fdldk mi;ksx djrs gSa \ 1 

 (A) lksfM;e gkbMªkWDlkbM   

 (B) lksfM;e dkcksZusV 

 (C) lksfM;e DyksjkbM  

 (D) dSfY'k;e DyksjkbM 
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 Which salt is used in the removal of permanent hardness of water ? 

 (A) Sodium Hydroxide (B) Sodium Carbonate 

 (C) Sodium Chloride (D) Calcium Chloride 

12. lewg-17 (Group-17) ds rÙoksa ds ckgjh dks'k esa fdrus bysDVªkWu gksrs gaS \   1 

¼vk/kqfud vkorZ lkj.kh½ 

 (A) 8 (B) 7 

 (C) 10 (D) 2 

 How many electrons are in outermost shell of Group-17 ? (Modern Periodic Table) 

 (A) 8 (B) 7 

 (C) 10 (D) 2 

13. Qsjl lYQsV )7.( 24 OHFeSO  fdl jax dk gksrk gS \ bls xeZ djus ij jax D;ksa mM+ tkrk gS \ 2 

 What is the colour of Ferrous sulphate crystals ? How does this colour change  

after heating ? 
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14. pkj foy;u A, B, C o D Øe'k% 8, 6, 13 ,oa 2 pH ds fn, x, gSaA lkoZf=d lwpd ls buesa mnklhu] 
ruq o çcy vEy] nqcZy vEy ;k {kkj crk,¡A 2 

 Four solution A, B, C and D when tested with a universal indicator, showed pH 
as 8, 6, 13 and 2 respectively. Which solution is neutral, strongly alkaline, 

strongly acidic and weakly acidic or weakly alkaline ? 

15. ukbVªkstu ¼ijek.kq Øekad 7½ vkSj flfydkWu ¼ijek.kq Øekad 14½ vkorZ lkj.kh ds lewg 15 ds rÙo gSaA 
bu nksuksa rÙoksa ds bysDVªkWfud foU;kl fyf[k, o buesa ls dkSu-lk rÙo vf/kd _.kfo|qr gksxk vkSj D;ksa \ 

  2 

 Nitrogen (Atomic No. 7) and Silicon (Atomic No. 14) belong to group 15 in 

periodic table. Give electronic configuration and which is more electronegative, 

why ? 

16. (i) lfØ;rk Js.kh D;k gS \ mnkgj.k lfgr o.kZu djsaA 2 

  What is reactivity series ? Describe with example. 

 (ii) vfHkfØ;kvksa ds fy, lehdj.k fyf[k, % 2 

  Write the equations for the reactions of : 

  (a) Hkki ds lkFk vk;ju 

   Iron with steam 
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  (b) ty ds lkFk dSfY'k;e 

   Calcium with water 

17. (a) fuEufyf[kr vfHkfØ;kvksa dks iwjk dhft, % 1 × 3 = 3 

  (i) →+ 33 NaHCOCOOHCH  

  (ii) →+ OHHCNa 52  

  (iii)  →
42

52
SOH

OHHC
lkUæxeZ

 

  Complete the following chemical reactions : 

  (i) →+ 33 NaHCOCOOHCH  

  (ii) →+ OHHCNa 52  

  (iii)  →
42.

52
SOHConcHot

OHHC  

 (b) (i) csUthu dh lajpuk cuk,¡A 1 

   Make a structure of Benzene. 

  (ii) felsy dk fuekZ.k dSls gksrk gS \ laf{kIr o.kZu nhft,A 2 

   Write a short note on Micelles. 
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vFkokvFkokvFkokvFkok    

OR 

 (a) fuEufyf[kr ;kSfxdksa dk ukedj.k dhft, % 1 × 3 = 3 

  (i) 3

||

3 CHCCH

O

−−  

  (ii) OHCHCH −− 23  

  (iii) COOHCHCH −− 23  

  Write the names of following compounds : 

  (i) 3

||

3 CHCCH

O

−−  

  (ii) OHCHCH −− 23  

  (iii) COOHCHCH −− 23  

 (b) (i) ladyu vfHkfØ;k dk o.kZu mnkgj.k lfgr dhft,A 2 

   Explain addition reaction with example. 

  (ii) csathu dh lajpuk cuk,¡A 1 

   Make a structure of Benzene. 
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[k.M [k.M [k.M [k.M –    llll    

SECTION – C 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½ 

(LIFE SCIENCE) 

18. dkSu-lk gkeksZu ikniksa esa o`f) dk laneu djrk gS \ 1 

 (A) vkWfDlu  

 (B) lkbVksdkbfuu 

 (C) ftCcsjsfyu  

 (D) ,fClfld vEy 

 Which hormone inhibits the growth in plants ? 

 (A)` Auxin  

 (B) Cytokinins 

 (C) Gibberellins  

 (D) Abscisc acid 

19. eVj ds ikS/ks esa dkSu-lk vçHkkoh y{k.k gS \ 1 

 (A) yacs ikS/ks (B) xksy cht 

 (C) (A) vkSj (B) nksuksa (D) lQsn Qwy 
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 Which is a recessive traits in pea plant ? 

 (A)` Tall plant  

 (B) Round seed 

 (C) Both (A) and (B) 

 (D) White flower 

20. ysLekfu;k esa tuu fdlls gksrk gS \ 1 

 (A) f}[kaMu (B) cgq[kaMu 

 (C) eqdqyu (D) chtk.kq lekla?k 

 In Leishmania reproduction take place by : 

 (A)` Binary fission  

 (B) Multiple fission 

 (C) Budding 

 (D) Spore formation 

21. xzsxj esaMy fdl ns'k ls lEcU/k j[krs Fks \   1 

 Gregor Mendel belonged to which country ? 
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22. çfrorhZ fØ;k esa efLr"d dh D;k Hkwfedk gS \  1 

 What is the role of the brain in reflex action ? 

23. ifj/kh; raf=dk ra= ds fofHkUu Hkkx D;k gSa \ buds dk;Z fyf[k,A 2 

 What are the various parts of peripheral nervous system ? Write their functions. 

24. vkstksu ds ykHk vkSj gkfu;k¡ D;k gSa \   2 

 What are the advantages and disadvantages of ozone ? 

25. ge ;g dSls tku ikrs gSa fd thok'e fdrus iqjkus gSa \ 2 

 How do we know how old the fossils are ? 

26. D;k gksrk gS tc vaM dk fu"kspu ugha gksrk \  4 

 What happens when the egg is not fertilized ? 

27. (a) ,d o`Ddk.kq dh lajpuk dk ukekafdr fp= cukb,A 3 

  Draw a labelled diagram of structure of a nephron. 

 (b) euq";ksa esa ew= fdl çdkj curk gS \   3 

  How is urine formed in human beings ?  
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vFkokvFkokvFkokvFkok    

OR 

 (a) euq";ksa esa 'olu dh fØ;kfof/k dk o.kZu dhft,A 3 

  Describe mechanism of respiration in human beings.  

 (b) (i) fyEQ D;k gS \   1 

   What is Lymph ? 

  (ii) ;g dSls curk gS \   1 

   How does it form ? 

  (iii) blds D;k dk;Z gSa \   1 

   What are its function ? 

 S 
 


